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1. 'R > 0, vR2bχ2
25µ�ê'θ�R}ñ, vb U(0, 2π)5µ��X = R cos θ�

(i)�OX� p.d.f., (ii)¼�Xb£×ð�5µ�

2. 'X�Y}ñ, v/b p.d.f. f(x) = 1/x2, x > 1��U = X/Y�(i)�OU�

p.d.f. fU , (ii)�JfU
× p.d.f.�

3. 'X�Y}ñ, v5½bΓ(p, λ)CΓ(q, µ)5µ��X1 = X1/β, Y1 = Y 1/β, β ∈
R\{0}, U = X1/Y1�

(i) �OX1CY1�p.d.f.�

(ii) �OU�p.d.f. fU�

(iii) 	β = 1, µ = λ, ã(ii)��h`�fU�

(iv) �J(iii)��fU
×p.d.f.�

4. 'Y |pbB(n, p)5µ, pbBe(α, β)5µ�(i)�OY�&f�5µ, (ii)�OE(Y ),

(iii)�OV ar(Y ), (iv)'n = 1, ¼�h`Yb¢5µ�

5. 'X, Y�Ð)p.d.f.
f(x, y) = 24xy, x, y ≥ 0, x + y ≤ 1��O (i)Cov(X,Y ),

(ii)ρ(X,Y ), (iii)Cov(2X + 3Y,X − 2Y ), (iv)E(Y |X = x)�


